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HREBEYM 1,027 1%
T
|| RE | ERDET mRDET| &R | DREE | NERR | REEEE
pAST WL 200 9 70 26 11 14 59 11
TEH 43 2 9 3 0 3 25 1
Ermmh 48 2 10 2 5 3 25 1
Em B SEHT 26 1 6 2 5 1 11 0
B g ET 10 1 0 1 0 0 8 0
HE HEM 427 11 100 17 32 25 231 11
KB 80 2 19 V4 2 6 42 2
- JIAHT 3 1 0 0 0 1 1 0
SSIERET 2 0 2 0 0 0 0 0
=Xzl 11 2 5 2 1 0 0 1
S EHEM 82 3 30 10 5 4 23 4
- iLiE™ 22 2 10 2 2 2 4 0
IEHE™ 22 3 4 11 2 2 0 0
#5H FEFOEFET 6 1 3 1 0 1 0 0
HEHE 7 1 3 1 1 1 0 0
[ETGARY=T: 15 1 9 3 1 0 0 1
0 e HET 8 0 1 1 0 0 6 0
[ipA=1:1] 3 1 1 0 1 0 0 0
HEF 4 0 1 1 0 0 1 1
B4} B4} 5 0 0 0 0 0 0 5
it 1,027 43 283 90 68 66 436 38
Hhish (FETAT) Bl h—FRITHE
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Hhizh & FITHE| AIAL A0 %478/ A0 Hhig & FITHE| ATAL A0 %478/ A0

it 9,978 +100| 231,459| 4.31%| EH 8,383 +45|  71,680| 11.70%
T 9,457 +98| 197,102 4.80% EET 5,401 +27 50,600( 10.67%

g 7] 521 +2 34,357| 1.52% iLiE™ 2,982 +18 21,080( 14.15%

] 8,577 +20|  48,107| 17.83%| % H 5,206 +19| 53,941 9.65%
ErH 5,192 +16|  33,201| 15.64% HETH 2,575 +8| 42,268 6.09%

B2 WY 2,788 +2 10,716 26.02%| | EFNEFET 2,091 +7 6,166 33.91%
R R AT 597 +2 4,190| 14.25% HEE 540 +4 5,507| 9.81%

HE 29,835 +105| 170,612 17.49%| [Sig 3,325 +12 17,997 18.48%

XH 10,394 +24| 46,546 22.33%| |IZik0 SET 908 +6 12,613 7.20%
KHET 8,389 +20|  30,404| 27.59% s ET 895 +4 2,269 39.44%
JI|AHET 449 +0 3,002| 14.96% 7/ BT 1,273 +2 2,540 50.12%
SEJERET 558 +0 3,882( 14.37% &kt 249 +0 575| 43.30%

& R T 998 +4 9,258( 10.78% 15 5} 643 +12 — —
it 76,341 +337] 640,342] 11.92%




